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KN-276
B.C.A. (Part-II) Examination, 2022

THEORETICAL FOUNDATION OF
COMPUTER SCIENCE

[ Paper : Third ]

( Data Structure )

Time Allowed : Three Hours

Maximum Marks : 50

Minimum Passing Marks : 20

[P.T.O.]

Note : Attempt all the five questions. One question from each

unit is compulsory. All questions carry equal marks.

lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u

djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

Unit-I / bdkbZ&I

1. What do you mean by data structure. Explain Basic

terminology of data structure. [10]
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MkVk LVªDpj ls vkidk D;k vk'k; gS\ MkVk LVªDpj ds ewyHkwr

'kCnkoyh dks le>kb,A

OR / vFkok

Explain the use of elementary data organization in Data

Structure.

MkVk LVªDpj esa izkFkfed MkVk laxBu ds mi;ksx dks le>kb,A

Unit-II / bdkbZ&II

2. What is Searching? Explain various types of Searching

technology used in Data Structure. [10]

lfpZax D;k gksrk gS\ MkVk LVªDpj esa iz;ksx gksus okys fofHkUu

izdkj ds lfpZax izkS|ksfxdh dks le>kb,A

OR / vFkok

What is linear Array? Arrange the following data in

ascending order with the using Bubble Sort

32, 51, 27, 85, 66, 23, 13, 57

jSf[kd ,sjs D;k gksrk gS\ fuEu MsVk dks ccy lkWVZ dh lgk;rk

ls c<+rs Øe esa O;ofLFkr dhft,A

32, 51, 27, 85, 66, 23, 13, 57
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Unit-III / bdkbZ&III

3. What do you mean by linked list? Write down the

algorithm for traversing linked list. [10]

fyaDM fyLV ls vkidk D;k vk'k; gS\ VªSoflaZx fyaDM fyLV ds

fy, ,yxksfjne fyf[k,A

OR / vFkok

Note : Explain the following :

fuEufyf[kr dks le>kb,A

(a) Stack

LVSd

(b) Queue

D;w

Unit-IV / bdkbZ&IV

4. What is tree? Explain various types of tree. [10]

Vªh D;k gksrk gS\ Vªh ds izdkjksa dks le>kb,A

OR / vFkok

Perform following operation in Binary tree :

ckbujh Vªh esa fuEu izfØ;k,¡ dhft, %

[P.T.O.]
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(a) Inserting in Binary tree

ckbujh Vªh esa balfVZax

(b) Searching in Binary tree

ckbujh Vªh esa lfpZax

Unit-V / bdkbZ&V

5. Arrange the following data in ascending order using

Selection Sort. [10]

14, 33, 27, 10, 35, 19, 42, 44

fuEufyf[kr vk¡dM+ksa dks lsysD'ku lkWVZ dh enn ls O;ofLFkr

dhft,A

14, 33, 27, 10, 35, 19, 42, 44

OR / vFkok

Explain the following :

fuEufyf[kr dks le>kb, %

(a) Merging

eftZax

(b) Insertion Sort

bal'kZu lkWVZ

----x----


